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10.

11.

12.

13.

14.

15.

Solve (2x+ y)dy =(x+2y)dx. [88 {72 AT 10%])

Solve =Y. X {04 4 [k 10%)
dx x y

Solve xy'=y+4/x*+y* . [94 [~ Fr15%]

Solve e‘siny—2x+(e" cosy+1)y'=0. [94 ’F"ﬂ\éf BSET 10%]

Dy (92 RS

Solve the differential equation (x + ¥y —x ) y
x

10%]
xy' = y+(y2 —xz)l/z, solve y(x). [94 :ILEH?J@EI"T 15%]
Solve xpy' =2y° +4x°, y(2) =4. [92 J°E[F1Es=Hr20%]
. . . dy 1 s s
A B i 0
Solve the differential equation el (Zy +x ) [93 E"J [%ﬁjﬂ 6% ]

Solve ﬂ =Y —4x

(94 BT 10%]

dx x-y

Solve the equation (x+3y)dx—(x—y)dy=0, with y(0)=1, what is ln(w/x2 +y° )_1.
[93 A% A g Fr 10% )

Find the general solution of (x2 +xy+y° )dx— x*dy=0.[94 1}l [?IT’?&%‘}%E{”T 15%]

Solve the following ordinary differential equation:
yzdx+(x2 —xy—yz)dy =0. [89 J"A[F IF{~Hr 10%]

Solve Q=1+tanz. [92 Iz Hr 10% )
X

dx x
Solve &= 20 {02 ¢ AR 16% ]
dx x*+y°-9 i
(x+y)
Slove ' =1"— 1 [90 3 T 10% ]

X
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Solve (ZM—y)dx—xdy:O. [95 O ESHbHT 6% ]

3

Solve xy'—y="—¢"". [91 SR\ 10% > 93 [f] Tk 14%)
y

Solve xy'=xcos(y/x)+y. [93 Ja¥EiAT 10% ]
Solve 2xyy'—y*+x*=0. [91 & [ﬁﬁk = 10% )
Solve (xy\/)cz—y2 +x)y’:y—x2«/x2—y2. [88 j%il?ﬁ@fifﬂﬁ’?ﬁ%]

Solve xy'=y++/x>+y* . [90 & “BSEr25%]

Solve y*(3ydx—6xdy)=x(ydx+2xdy). [88 :I'LE[E,'JJ']‘:J'EI’? 8%]

Solve y

SRSl S Y & IR 15%]
X

Solve (1+2e)‘/”)dx+2e)‘/” (l—ﬁ]dy =0.[89 :I‘%[Yﬁ@ﬁ’? 5%])
Yy

Solve y(xy+1)dx+x(1+xy+xy )dy 0. [86 [ >~ b7 6%]

Find an implicit solution of the initial-value problem:

DY X (1) =2 (91 R 15% » 90 f1IFUS AR 15%)
dx Xy

Solve '+ X=2F3 (91 7 A B PRI 10%)
2x—4y+5 [
Solve y =2 =X 1 - LO0 fIi 3L 7 15%)

Find the general solution for the following differential equation:

(6x° 3xy)%+9xy 2y* =0. [89 Z%[FHTT 10%]

Explain why it is always possible to express any homogeneous differential equation

M (x,y)dx+N(x,y)dy=0 in the form Q=F(lj or Q=G X [91 ’F"H\fﬁij B
dx X dx y

10%]
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

Y188 b4 AT 10%)
x+y

Solve y'=

Solve (x2 +yz)d)c+(x2 —xy)dy =0. [87 & “ESHHT17%]

2

Slove 2xy'— y—— [90ﬁ S| AT 15%)
y

Slove xy'=x+y, y() 1. [89 Z=E[HA H10%])
Slove y2—6xy+(3xy—6x2)y':O. [91 ﬁ[?ﬁ%‘;ﬂ’? 10%])
Slove *y'+y”* =ty. [91 W& FTR[FT10%]

Solve x’y'=y*+2xy. [89 F&J\IPJﬂF[”"?M%]

Solve (x2 +y’ —az)(x+yy') =2xy(y+xy'). [88 :I‘LE[E{JJ'?JEI’? 8%]

Solve xy'=y+x’ tan— [86 7 d _[ﬁ TR 15%])

Solve (x+\/y2—xy)y'=y, y(%jzl. [8871?[[' TORT15%)

Solve y"-33%y'=0, (a)if x=0, y=1, y'=1.(b)if x=0, y=1, y'=0. {’F"f‘\j
T 15%)

Solve y"—()') =0. [87 1°%| {57 15%]
Solve the following initial value problem:

Z_y:““y, ¥(0)=0. [93 ;™4 # 7 6%)
X

Solve the following initial value problem:

%:““y, p(0)=1. [93 74 7 4%)
X
2 2
Solve L= X X2V 1oy kst v 15%)
dx xy
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